光學作業 應物三甲 0932359 黃姿方

Problem 7-8

A quasi-monochromatic beam of light illuminates Young’s double-slit setup, generating a fringe pattern having a 5.6 mm separation between consecutive dark bands. The distance between the plane containing the apertures and the plane of observation is 1 m, and the two slits are separated by 1.0 mm. Sketch the experimental arrangement. Why is an initial single slit necessary? What is the wavelength of the light?

(1).為了產生同調光束
(2) λ = △y a / L

    = 5.6 (mm) × 1 (mm) / 1 (m)

    = 560 nm

